# Some Additive Maps on Sigma Prime Rings 

Mohammad Mueenul Hasnain* and Mohd Rais Khan<br>Department of Mathematics, Jamia Millia Islamia (A Central University), New Delhi, 110-025, India<br>e-mail: mhamu786@gmail.com and mohdrais_khan@yahoo.co.in

Abstract. The purpose of this paper is to prove some results which are of independent interest and related to additive maps on $\sigma$-prime rings. Further, examples are given to demonstrate that the restrictions imposed on the hypotheses of these results are not superfluous.

## 1. Introduction

During the past few decades, there has been an ongoing interest concerning the relationship between the commutativity of a ring and the behavior of a special mapping on the ring. An example due to Oukhtite [9], shows that every prime ring can be injected in $\sigma$-prime ring and from this point of view $\sigma$-prime rings constitute a more general class of prime rings. Recently, a major breakthrough has been achieved by Oukhtite et al. [10], where the important results by Posner[12], Herstein[5] and Bell[2] have been proved for $\sigma$-prime rings. They are spree of developing and extending more and more results which hold for a prime ring (see, e.g.,[7, 11], where further references can be found). A continuous approach in this direction is still on. In this context, we establish some results concerning additive map with additional conditions in non commutative $\sigma$-prime ring. Further, we show that some additive maps on a $\sigma$-prime ring with additional conditions that acts as a homomorphism or anti-homomorphism on a non zero ideal in the ring, is zero map or the identity map. In particular, our research can be viewed as a new more elementary approach. At the end, an example is given to demonstrate that the restrictions imposed on the hypotheses of the results are not superfluous.

Throughout this note, $R$ will represent an associative ring with multiplicative center $Z(R)$. For any $x, y \in R$, the symbol $[x, y]$ stand for the commutator $x y-y x$.

[^0]Received May 21, 2014; accepted August 5, 2014.
2000 Mathematics Subject Classification: 16W10, 16W25, 16 U 80.
Keywords and phrases: $\sigma$-Prime ring, $\sigma$-Ideal, Additive Mapping, Commutator.

Recall that a ring $R$ is prime if for any $x, y \in R, x R y=\{0\}$ implies $x=0$ or $y=0$. A ring $R$ equipped with an involution $\sigma$ is to be $\sigma$-prime if $x R y=x R \sigma(y)=\{0\}$ $\Rightarrow x=0$ or $y=0$. An ideal $U$ is a $\sigma$-ideal if $U$ is invariant under $\sigma$, i.e., $\sigma(U)=U$. Assume that $F: R \rightarrow R$ is a map associated with another map $\delta: R \rightarrow R$ so that $F(x y)=F(x) y+x \delta(y)$ holds for all $x, y \in R$. If $F$ is additive and $\delta$ is a derivation of $R$, then $F$ is said to be a generalized derivation of $R$ that was introduced by Brešar[4]. In [6], Hvala gave an algebraic study of generalized derivations of prime rings. We note that if $R$ has the property that $R x=(0)$ implies $x=0$ and $g: R \rightarrow R$ is any function, and $d: R \rightarrow R$ is any additive map such that $d(x y)=d(x) y+x g(y)$ for all $x, y \in R$, then $d$ is uniquely determined by $g$ and moreover $g$ must be a derivation by [4, Remark 1]. Let $S$ be any nonempty subset of $R$ and $f$ be any map of $R$. If $f(x y)=f(x) f(y)$ or $f(x y)=f(y) f(x)$ for all $x, y \in S$ then $f$ is called a map that acts as a homomorphism or anti-homomorphism on $S$, respectively.

We shall make extensive use of the following basic identities without any specific mention; For all $x, y, z \in R$,
(i) $[x y, z]=x[y, z]+[x, z] y$,
(ii) $[x, y z]=y[x, z]+[x, y] z$.

## 2. Main Results

We facilitate our discussion with the simple lemma which is required for developing the proofs of our main theorems.
Lemma A.([8, Lemma 2.2]) Let $R$ be a a $\sigma$-prime ring and $I \neq 0$ a $\sigma$-ideal of $R$. If $a, b \in R$ are such that $a I b=0=a I \sigma(b)$, then $a=0$ or $b=0$.
We begin with the following one.
Theorem 2.1. Suppose $R$ is a noncommutative $\sigma$-prime ring and $I \neq 0$ a $\sigma$-ideal of $R$. Let $F, D$ are two additive mappings (not necessary a derivation) on $R$ such that $F(x y)=F(x) y+x D(y)$, for all $x, y \in R$ with additional condition $\sigma D=D \sigma$. If $a \in R$ and $[F(x), a]=0$, for all $x \in I$, then $F([x, a])=0$ or $a \in Z(R)$.
Proof. By the hypothesis, we have

$$
\begin{equation*}
[F(x), a]=0, \forall x \in I \tag{2.1}
\end{equation*}
$$

Taking $x r$ instead of $x$ in (2.1) and use it to arrive at

$$
\begin{equation*}
F(x)[r, a]+x[D(r), a]+[x, a] D(r)=0, \forall x \in I, r \in R . \tag{2.2}
\end{equation*}
$$

In (2.2) replace $x$ by $x y$, where $y \in I$ then, from (2.2), we obtain

$$
\begin{equation*}
(F(x) y+x D(y)-x F(y))[r, a]+[x, a] y D(r)=0 \tag{2.3}
\end{equation*}
$$

Take $a$ instead of $r$ in (2.3), we have

$$
[x, a] y D(a)=0, \forall x \in I
$$

and so,

$$
[x, a] I D(a)=0, \forall x \in I,
$$

Since $D$ is commute with $\sigma$. Thus, by Lemma A, it follows that

$$
[x, a]=0 \quad \text { or } D(a)=0, \forall x \in I
$$

Assume that $a \notin Z(R)$, then $D(a)=0$. If we substitute $s x, s \in R$ for $x$ in (2.3), we obtain
$(2.4)(F(s) x+s D(x)-s F(x)) y[r, a]+[s, a] x y D(r)=0, \forall x, y \in I, r \in R$.
Replacing $s$ by $a$ in (2.4), we arrive at

$$
(F(a) x+a D(x)-a F(x)) y[r, a]=0, \forall x, y \in I, r \in R .
$$

Or

$$
(F(a) x+a D(x)-a F(x)) I[r, a]=0, \forall x \in I, r \in R .
$$

Using the fact $a \notin Z(R)$ together with Lemma A, we obtain

$$
F(a) x+a D(x)-a F(x)=0, \forall x \in I .
$$

This implies that

$$
F(a x)=a F(x), \forall x \in I
$$

On the other hand, if $D(a)=0$, we see that the relation

$$
F(x a)=F(x) a, \forall x \in I
$$

Combining the last two equality we arrive at

$$
F[x, a]=0, \forall x \in I .
$$

This completes the proof.
Theorem 2.2. Suppose $R$ is a noncommutative $\sigma$-prime ring and $I \neq 0$ a $\sigma$-ideal of $R$. Let $F, D$ are two additive mappings (not necessary a derivation) on $R$ such that $F(x y)=F(x) y+x D(y)$, for all $x, y \in R$ with additional condition $\sigma D=D \sigma$. If $a \in R$ and $F([x, a])=0$, for all $x \in I$, then $[F(x), a]=0$ or $a \in Z(R)$.
Proof. We begin with the situation

$$
F([x, a])=0, \text { for all } x \in I .
$$

We replace $x$ by $x a$ in the above defining equation to obtain

$$
\begin{equation*}
[x, a] D(a)=0, \text { for all } x \in I \tag{2.5}
\end{equation*}
$$

Taking $x y$ instead of $x$ in (2.5) and using (2.5) we obtain

$$
[x, a] y D(a)=0, \text { for all } x, y \in I,
$$

and so,

$$
\begin{equation*}
[x, a] I D(a)=0, \text { for all } x \in I \tag{2.6}
\end{equation*}
$$

Since $D$ is commute with $\sigma$. Thus, by Lemma A, it follows that

$$
[x, a]=0 \quad \text { or } \quad D(a)=0, \text { for all } x \in I
$$

If $a \notin Z(R)$, then $D(a)=0$. Now, we replace $x$ by $x y$ in the hypothesis and using hypothesis to obtain

$$
\begin{equation*}
F(x)[y, a]+[x, a] D(y)+x D([y, a])=0, \text { for all } x, y \in I \tag{2.7}
\end{equation*}
$$

From associative law and calculating $F(x y a)$ in two different ways, we obtain

$$
x D(y a)=x D(y) a+x y D(a), \text { for all } x, y \in I
$$

Similarly,

$$
x D(a y)=x D(a) y+x a D(y), \text { for all } x, y \in I
$$

Comparing last two equation to obtain

$$
\begin{equation*}
x D[y, a]=x[D(y), a]+x[y, D(a)], \text { for all } x, y, z \in I \tag{2.8}
\end{equation*}
$$

From (2.7) \& (2.8), and using $D(a)=0$ we arrive at

$$
\begin{equation*}
F(x)[y, a]+[x, a] D(y)+x[D(y), a]=0, \text { for all } x, y \in I \tag{2.9}
\end{equation*}
$$

Substitute $y z$ instead of $y$ in (2.9) and use it to obtain

$$
(F(x) y+x D(y))[z, a]+[x, a] y D(z)-x F(y)[z, a]=0, \text { for all } x, y, z \in I
$$

and so,
(2.10) $(F(x) y+x D(y)-x F(y))[z, a]+[x, a] y D(z)=0$, for all $x, y, z \in I$.

Replace $x$ by $a x$ in (2.10) and use it, it yields

$$
(F(a) x+a D(x)-a F(x)) y[z, a]=0, \text { for all } x, y, z \in I
$$

Hence, we get

$$
(F(a x)-a F(x)) I[z, a]=0, \text { for all } x, z \in I
$$

Since $a \notin Z(R)$ and from Lemma A we obtain

$$
\begin{equation*}
F(a x)=a F(x), \text { for all } x \in I . \tag{2.11}
\end{equation*}
$$

On other hand, as $D(a)=0$,

$$
\begin{equation*}
F(x a)=F(x) a, \text { for all } x \in I \tag{2.12}
\end{equation*}
$$

Combining (2.11) \& (2.12), we have

$$
[F(x), a]=0, \text { for all } x \in I
$$

Thus, the proof is complete.
Following Corollaries are the immediate consequences of the above theorems.
Corollary 2.3. If $R$ is a $\sigma$-prime ring and $I \neq 0$ a $\sigma$-ideal of $R$. Suppose $F, D$ are two additive mappings (not necessary a derivation) on $R$ such that $F(x y)=$ $F(x) y+x D(y)$, for all $x, y \in R$ with additional condition $\sigma D=D \sigma . I f[F(x), a]=0$, for all $x \in I, a \in R$, then $F([x, a])=0$ or $R$ is commutative.
Corollary 2.4. If $R$ is a $\sigma$-prime ring and $I \neq 0$ a $\sigma$-ideal of $R$. Suppose $F, D$ are two additive mappings (not necessary a derivation) on $R$ such that $F(x y)=$ $F(x) y+x D(y)$, for all $x, y \in R$ with additional condition $\sigma D=D \sigma$. If $F([x, a])=0$, for all $x \in I, a \in R$, then $[F(x), a]=0$ or $R$ is commutative.
In [3], Bell and Kappe proved that if $\delta$ is a derivation of prime ring $\Re$ which acts as a homomorphism or an anti-homomorphism on a nonzero ideal $I$ of $\Re$, then $\delta=0$ on $\Re$. Further, Albas and Argac [1] extended this result to generalized derivation. Recently, Oukhtite[9] proved that the result is also true for $\sigma$-prime ring, as following:
Theorem A.([9, Theorem 1.1]) Suppose $R$ is a 2-torsion free $\sigma$-prime ring, $U \neq 0$ a $\sigma$-ideal and $(f, d)$ is a generalized derivation with additional condition that $\sigma D=$ $D \sigma$.
(i) If $F(x y)=F(x) F(y)$, for all $x, y \in I$, then $d=0$. Moreover, if $F$ commute with $\sigma$ then $F$ is an identity map.
(ii) If $F(x y)=F(y) F(x)$, for all $x, y \in I$ and $d \neq 0$, then $R$ is commutative.

It would be interesting to know that whether above theorem can be proved without the assumption that $R$ is 2 -torsion free. In this context, we prove the following:

Theorem 2.5. Suppose $R$ is a $\sigma$-prime ring and $I \neq 0$ a $\sigma$-ideal of $R$. Let $F, D$ are two additive mappings (not necessary a derivation) on $R$ such that $F(x y)=$ $F(x) y+x D(y)$, for all $x, y \in R$ with additional condition $\sigma D=D \sigma$. If $F$ acts as a homomorphism or anti-homomorphism, then $D=0$. Moreover, if $F$ commutes with $\sigma$ then either $F=0$ or $F$ is an identity map on $R$.
Proof. We break the proof of theorem in two parts.
(i) If $F \mid I$ is a homomorphism, we have

$$
F(x y)=F(x) F(y), \forall x, y \in I
$$

From associative law and calculating $F(x y z)$ in two different ways, we obtain easily

$$
(F(x)-x) y D(z)=0, \forall x, y, z \in I
$$

This implies that

$$
(F(x)-x) I D(z)=0, \forall x, z \in I
$$

Since $D$ commutes with $\sigma$ thus, by Lemma A, it follow that either $(F(x)-x)=0$ or $D(z)=0$ for all $x, z \in I$. If $D \mid I \neq 0$ then $F(x)=x$, for all $x \in I$. From this our hypothesis becomes $x D(y)=0$ for all $x, y \in I$. Since $D$ commutes with $\sigma$ and $I$ is a $\sigma$-ideal then from Lemma A we obtain $D=0$, a contradiction. Hence $D \mid I=0$. In this situation, our hypothesis $F(x y)=F(x) F(y)$ for all $x, y \in I$ force to

$$
F(x) y=F(x) F(y), \forall x, y \in I
$$

Replacing $x$ by $y z$ we get

$$
F(x) z(y-F(y))=0, \forall x, y, z \in I
$$

As $F$ commutes with $\sigma$ and $I$ is a $\sigma$-ideal then, by Lemma A, we have either $F(y)=y$ or $F(x)=0$ for all $x, y \in I$.

If $F(x)=0$ for all $x \in I$, then $0=F(r x)=F(r) x+r D(x)=F(r) x, \forall x \in I \& r \in$ $R$, hence, $F$ is a zero map on $R$. On the other hand, if $F(y)=y$ for all $y \in I$ then $r x=F(r x)=F(r) x+r D(x)=F(r) x, \forall x \in I \quad \& r \in R$. Therefore, by Lemma A and using the fact $F$ commutes with $\sigma$, we obtain

$$
F(r)=r, \forall r \in R
$$

It remain to prove that $D=0$ on $R$. Let $F=0$ (although it is sufficient to assume $F \mid I=0$ ), we get

$$
0=F(r x)=F(r) x+r D(x)=r D(x), \forall x \in I \quad \& r \in R .
$$

Since $D$ commutes with $\sigma$ and $I \neq 0$ is a $\sigma$-ideal then, by Lemma A we have $D(r)=0$ for all $r \in R$. In second case, if $F$ be an identity map (although it is sufficient to assume $F \mid I$ is the identity), we get

$$
r x=F(r x)=F(r) x+r D(x)=r x+r D(x), \forall x \in I \quad \& \quad r \in R .
$$

This implies that $D(r)=0$ for all $r \in R$.
(ii) if $F \mid I$ is an anti-homomorphism. As in [9] we get

$$
[F(z), y] x D(z)=0, \forall x, y, z \in I
$$

That is,

$$
[F(z), y] I D(z)=0, \forall y, z \in I
$$

Since $D$ commutes with $\sigma$ thus, by Lemma A, it follow that

$$
[F(z), y]=0 \quad \text { or } \quad D(z)=0, \forall y, z \in I
$$

If $D(z) \neq 0$ for some $z \in I$, then $[F(z), y]=0$ for all $y, z \in I$. Now, we have

$$
\begin{aligned}
F(x y) z+x y D(z) & =F(x y z)=F(z) F(y) F(x)=F(y) F(z) F(x) \\
& =F(y) F(x z)=F(y)(F(x) z+x D(z)) \\
& =F(x y) z+F(y) x D(z), \forall x, y \in I
\end{aligned}
$$

This implies that

$$
\begin{equation*}
x y D(z)=F(y) x D(z), \forall x, y \in I . \tag{2.13}
\end{equation*}
$$

Taking $r x$ in place of $x$ in (2.13) we get

$$
\begin{equation*}
r x y D(z)=F(y) r x D(z), \forall x, y, z \in I r \in R . \tag{2.14}
\end{equation*}
$$

Multiplying (2.13) by $r$, we have

$$
\begin{equation*}
r x y D(z)=r F(y) x D(z), \forall x, y, z \in I r \in R . \tag{2.15}
\end{equation*}
$$

From (2.14) and (2.15), we obtain

$$
(F(y) r-r F(y)) x D(z)=0, \forall x, y, z \in I r \in R .
$$

Since $D$ commutes with $\sigma$ such that $D(z) \neq 0$ and $I \neq 0$ is a $\sigma$-ideal then, by Lemma A we have

$$
F(y) r=r F(y), \forall x, y, z \in I r \in R .
$$

Therefore $F \mid I$ is an homomorphism. Using (i) we get $D=0$. This is a contradiction, so that $D \mid I=0$. In this situation, we have

$$
\begin{aligned}
F(x) z y=F(x z) y & =F(z) F(x) y \\
& =F(z) F(x y)=F(x y z)=F(x) y z, \forall x, y, z \in I
\end{aligned}
$$

i.e.

$$
F(x) w(z y-y z)=0, \forall x, y, z, w \in I
$$

or

$$
F(x) I(z y-y z)=0, \forall x, y, z, w \in I
$$

Since $F$ commutes with $\sigma$ and $I$ be a $\sigma$-ideal then, by Lemma A we have $F(x)=0$ for all $x \in I$ or $z y=y z$, for all $y, z \in I$. The second case implies that $R$ is commutative and $F \mid I$ is homomorphism. Using (i), we get $F(x)=x$ for all $x \in I$ or $F=0$ on $R$. Finally, we get, as in (i) that $D=0$ on $R$. This completes the proof.

We can close this paper with some examples which shows that the restrictions in the hypothesis of several results are not superfluous.
Example 2.6. Let $R=\left\{\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & 0 \\ 0 & c & 0\end{array}\right): a, b, c \in \mathbb{S}\right\}$ and $I=\left\{\left(\begin{array}{ccc}0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & c & 0\end{array}\right)\right.$ : $b \in \mathbb{S}\}$, where $\mathbb{S}$ is a non commutative ring. We define the following maps:

$$
\sigma\left(\begin{array}{ccc}
0 & a & b \\
0 & 0 & 0 \\
0 & c & 0
\end{array}\right)=\left(\begin{array}{ccc}
0 & b & a \\
0 & 0 & 0 \\
0 & c & 0
\end{array}\right), \quad F\left(\begin{array}{ccc}
0 & a & b \\
0 & 0 & 0 \\
0 & c & 0
\end{array}\right)=\left(\begin{array}{ccc}
0 & a & 0 \\
0 & 0 & 0 \\
0 & 0 & 0
\end{array}\right) \text { and }
$$ $D\left(\begin{array}{lll}0 & a & b \\ 0 & 0 & 0 \\ 0 & c & 0\end{array}\right)=\left(\begin{array}{lll}0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & c & 0\end{array}\right)$. Then it can be seen easily that $R$ is a non commutative ring with involution $\sigma$ and $I$ is a $\sigma$-ideal of $R$. It is straightforward to check that $F$ and $D$ satisfy all the requirements of Theorem 2.1, but neither $F[X, A]=0$ nor $A \notin Z(R)$.

Example 2.7. Let $\mathbb{G}=\left\{a_{1}+a_{2} i+a_{3} j+a_{4} k: a_{1}, a_{2}, a_{3}, a_{4} \in \mathbb{R}\right\}$, where $i, j, k$ comes from the Quaternion group $Q_{8}$, and multiply accordingly, form a ring under natural addition and multiplication. Consider $H=\left\{\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & 0 \\ 0 & c & 0\end{array}\right): a, b, c \in \mathbb{G}\right\}$ and $I=\left\{\left(\begin{array}{lll}0 & 0 & b \\ 0 & 0 & 0 \\ 0 & 0 & 0\end{array}\right): b \in \mathbb{G}\right\}$. We define the following maps:

$$
\sigma\left(\begin{array}{ccc}
0 & a & b \\
0 & 0 & 0 \\
0 & c & 0
\end{array}\right)=\left(\begin{array}{ccc}
0 & -a & b \\
0 & 0 & 0 \\
0 & -c & 0
\end{array}\right), \quad F\left(\begin{array}{ccc}
0 & a & b \\
0 & 0 & 0 \\
0 & c & 0
\end{array}\right)=\left(\begin{array}{ccc}
0 & 0 & b \\
0 & 0 & 0 \\
0 & 0 & 0
\end{array}\right) \text { and }
$$

$D\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & 0 \\ 0 & c & 0\end{array}\right)=\left(\begin{array}{ccc}0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & -c & 0\end{array}\right)$. Then it can be seen easily that $R$ is a non-
commutative ring with involution $\sigma$ and $I$ is a $\sigma$-ideal of $R$. It is straightforward to check that $F$ and $D$ satisfy all the requirements of Theorem 2.2, but neither $[F(X), A]=0$ nor $A \notin Z(R)$.

Example 2.8. Let $R=\left\{\left(\begin{array}{lll}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right): a, b, c \in \mathbb{Z}\right\}$ and $I=\left\{\left(\begin{array}{lll}0 & 0 & b \\ 0 & 0 & 0 \\ 0 & 0 & 0\end{array}\right)\right.$ : $b \in \mathbb{Z}\}$. We define the following maps:
$\sigma\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)=\left(\begin{array}{ccc}0 & -a & b \\ 0 & 0 & -c \\ 0 & 0 & 0\end{array}\right), F\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)=\left(\begin{array}{ccc}0 & a & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0\end{array}\right)$ and $D\left(\begin{array}{ccc}0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0\end{array}\right)=\left(\begin{array}{ccc}0 & 0 & 0 \\ 0 & 0 & -c \\ 0 & 0 & 0\end{array}\right)$. Then it can be seen easily that $R$ is a ring with involution $\sigma$ and $I$ is a $\sigma$-ideal of $R$. It is straightforward to check that $F$ and $D$ satisfy all the requirements of Theorem 2.5, but neither $D=F=0$ nor $F$ is an identity map.
Acknowledgements. The first author is thankful to the Department of Atomic Energy, Government of India, for its financial assistance provided through NBHM Postdoctoral Fellowship no. 2/40(14)/2014/R\&D-II/7794 to carry out this research work.

## References

[1] E. Albas and N. Argac, Generalized derivations of prime rings, Algebra Colloquium, 11(2004), 399-410.
[2] H. E. Bell and M. N. Daif, On derivation and commutativity in prime rings, Acta. Math. Hungar., 66(1995), 337-343.
[3] H. E. Bell and L. C. Kappe, Rings in which derivations satisfy certain algebraic conditions, Acta Math. Hungar, 43(1989), 339-346.
[4] M. Bresar, On distance of the composition of two derivations to the generalized derivations, Glasgo Math. J., 33(1991), 89-93.
[5] I. N. Herstein, Rings with involution, Univ. of Chicago Press, Chicago, 1976.
[6] B. Hvala, Generalized derivations in rings, Comm. Algebra, 26(1998), 1147-1166.
[7] L. Oukhtite, An extension of Posners Second Theorem to rings with involution, Int. J. Modern Math., 4(2009), 303-308.
[8] L. Oukhtite and S. Salhi, On commutativity of $\sigma$-prime rings, Glasnik Mathematicki, 41(2006), 57-64.
[9] L. Oukhtite and S. Salhi, On generalized derivations of $\sigma$-prime rings, Afr. Diaspora J. Math., 5(2006), 19-23.
[10] L. Oukhtite and S. Salhi, On derivations in $\sigma$-prime rings, Int. J. Algebra, 1(2007), 241-246.
[11] L. Oukhtite, S. Salhi and L. Taoufiq, Generalized derivations and commutativity of rings with involution, Beitrage Zur Algebra and Geometrie, 51(2010), 345-351.
[12] E. C. Posner, Derivations in prime rings, proc. Amer. Math. soc., 8(1957), 1093-1100.


[^0]:    * Corresponding Author.

